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(1)
tcp cre rep();

tcp cre_cep();
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TCP API(1)

tcpcrecep TCP
ER tcp cre cep(ID cepid, T TCP_CCEP *pk ccep);
ID TCP

TCP
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TCP API(2)

tcpcrerep TCP
ER tcp cre rep(ID repid, T TCP_CREP *pk_crep);
ID TCP

TCP ID
IP

IPV4 ADDRANY(=0)
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TCP API(3)

tcp con cep
ER tcp con cep(ID cepid, T IPV4EP *p myaddr, T IPV4EP
*p_dstaddr, TMO tmout);
ID CEP IP /

TCP ID

P
(TMO POL, TMO FEVR, TMO NBLK)
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TCP API(4)

tcp acp _cep ( )
ER tcp acp _cep(ID cepid, ID repid, T_IPVAEP *p dstaddr,

TMO tmout);
TCP

TCP ID
TCP ID
(TMO POL, TMO FEVR, TMO NBLK)

tcp_acp_cep
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TCP API(5)

tcp snd dat
ER tcp_snd_dat(ID cepid, VP data, INT len, TMO tmout);

tcp rev cep
ER tcp_rcv_cep(ID cepid, VP data, INT len, TMO tmout);

ID

(TMO _POL, TMO FEVR, TMO NBLK
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TCP API(6)

ER tcp_get buf(ID cepid, VP *p_buf, TMO tmout);

tcp _snd buf(ID cepid, INT len);
tcp get buf

tcp_rcv buf(ID cepid, VP *p_buf, TMO tmout);

tcp rel buf(ID cepid, INT len);
tcp_rev_buf
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TCP API(7)

ER callback(ID cepid, FN fncd, VP p_parblk);

TCP ID

fncd = AP ( TFN_TCP_SND DAT)
p_parablk -> ercd

fncd = TEV. TCP_RCV_0OB ( = 0x0201)
p_parablk -> ercd
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TCP API(8)

ER mainercd(ercd);
ER subercd(ercd);

ITRON
E OK =0
EOBJ  =-63
E WBLK ( = -83)
E_CLS ( = -87)

E BOVR ( = -89)




(1)

void main(void)

{
ercd = tcp_cre_cep(cepid,pk _ccep);
while (stat) {

ercd = tcp_con_cep(cepid,p_myaddr,p_dstaddr,tmoout);
while (stat) {

ercd = tcp_snd_cep(cepid, data, len, TMO_FEVR);
ercd = tcp_rcv_cep(cepid, data, len, TMO_NBLK);

¥
ercd = tcp_cls_cep(cepid, TMO _FEVR);
¥
ercd = tcp_del cep(cepid);




(2)

void main(void)
{
ercd = tcp_cre_cep(cepid,pk _ccep);
ercd = tcp_cre_rep(repid,pk _crep);
while (true) {
ercd = tcp_acp_cep(cepid,repid,dstaddr,tmout);
while (true) {
ercd = tcp_snd_cep(cepid, data, len, TMO_FEVR);
ercd = tcp_rcv_cep(cepid, data, len, TMO_NBLK);
}
ercd = tcp _cls_cep(cepid, TMO FEVR);




(3)

(1)

void server(ID repid)
{
ercd = tcp_cre_cep(cepid,pk _ccep);
while (true) {
ercd = tcp_acp_cep(cepid,repid,dstaddr,tmout);
while (true) {
ercd = tcp_snd_cep(cepid, data, len, TMO_FEVR);
ercd = tcp_rcv_cep(cepid, data, len, TMO_NBLK);

¥
ercd = tcp _cls_cep(cepid, TMO FEVR);




(4)

(2)

void main(void)

{

Int 1, start_code;

ercd = tcp_cre_rep(repid,pk _crep);
start_code = repid;
for (i=0; §<SERVER_NUM; i++) {

create & start_task(server, start code);
b

sleep_task(SELF);







